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B. Sc./B. A. (Part-I) MATHEMATICS, 2014
Algebra and Co-ordinate Geometry of Two Dimensions
L3H. | - FirstPaper B M.M.75

AT~ Part-A. (i) 31X a, b &1 ofx s aRet € & v i f6 -
Ifa, bare positive unequal quantities, prove that :a'+b* > a’b+ab’.
(ii) A2 e w0 1 e f%rrf@ql? State Cayley-Hamilton theorem.
(iii) ST ST BINTT 2 Faheor axc 4+ 3bx’ +3ex+d=0& AT 4. T & |

Find the condition that the roots of the equation are in G.P:

(iv) FHIBTT S FHiforg ﬁflﬂ%%ﬂ'ﬁﬁqx4+xs—3xz—x+.2=0%@ﬁﬁ
@ 3%7 8 1 Find the equation whose roots are equal tothe roots of  x'+x'—
3x’—x+2=0,eachdiminished by3. . |

(v) TR AN FoTT ey a7 aregor a7 e T |

State Leibnitz's test for alternating series. L

(vi) G T TN TR 7 e 57T | State d'Alembert's ratio test. |
(vii) Sﬂffﬂ_f_:] +ecos 03 Ry fimg P (o) T st Y a1 WK (ST |

Write the equation of tangent at P () to the conic _[_ =1+ecosh.
- |

(viii)QﬂWizl+60039Wﬁ%aﬁl§aﬁﬁﬁrﬁﬁaﬁﬁﬁﬂmzﬁr?ﬁ[
I
g fofge | Write the polar equation of the chord joining two

o
points onacomc_r_— 1 +ecos0.

(ix)myZ_xy+2x3_5y+x—6=OE!a7fﬁSﬁmﬁﬁﬁﬁﬁm%?

. 2 i - ‘)
What conic does equation y'—xy+2x -5y tX 6 =0 represents °
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B. Sc. / B. A. (Part-T) MATHEMATICS / 13

(x) 9159 230+ 3xy+ 2y + 5% +2y —2=03 o167} %) e a1 biorg | Find
the length of the axes of the conic 2x"+3xy ¥ 2y*+5x+2y—=2=0.

ANT-9 555 L 1. Ry PRI {6 : Prove that:

'a+b+c z?+b_+c . 2’+b2+cz-w+b+c |
—— <@P° = aFprc |
STET a, b, ¢ & Tﬁ?ﬁ%|Wheréa,b,carepositiveintegers". 3l /OR
L N 11 1111 11 1111

= andy= el Sk
(®) o = gt T TR R e
fﬁﬁ-@qﬁﬁ’m{ﬁﬁ:thenprovethat:x—'y=IRJ;:‘T._ e, |
ﬁlﬁﬂ.&(ﬂ)qﬁﬁﬂv_{ﬂmu3pxz+3qx+r=0%@ﬁ€ﬁa.ﬁ§f,ﬁ’f.§3@fﬁ

FRTT B 2’ =r (3pg—1) | iftheroots of X’ +3px’ +3qx +r =0 arc H.P. show
that2q’=r(3pg-r1). ~arger/OR
(a)ﬁrﬂﬁfﬁ%ﬁmwﬁwmaammm | | |
Solve the following equation’by Ferrari's method :
x'—2x*+8x—-3=0. o
e 100 4. () et &1 Sire Hirg | Test the series o
14,2434, 10n+4, | . & /OR
F 33 n T |
. : (n+1)x" 35 | |
(1) St Rorh T 0 — 2 & STRYFRT &l TR ST |

h+Dx"

Test the convergence of the series whose n"termis —,
. - . - n g

<t TV, 4. (o) 97 1 e e ST T el 4 et o7 7 X et 2l
Find the polar equation ofa conic, the focus being the pole. aeEr /OR
(a) Fors IR o6 Tl it . —1'+ecoseﬁmamw

r

Sfar & hd H 515 T g ¢ | Inaconic %] +ecosB, prove that sum

of the reciprocal of two perpendicular focal chords is constant.
gﬁV'é.(eq)aﬁmwmmaﬁwmmmmmw
g &g | Find the asymptotes and equation of the conjugate hyperbola of
the hyperbola. 6x*—Txy -3y —2x—8y—6=0. | a7 / OR
(a) FIEE] 8x’—4xy+Sy’-16x— 14y + 17=03 aTeft 21 GHIEHTOT e arersar
=d #hfre 1 Find the equation and the lengths ofthe axes of the conic 8x’ —4xy
+5y2- 16x—14y+ 17=0.
qr-d 7.ﬁWAmaWWﬂWamaﬂﬁqwﬁ@ﬁﬁmﬁﬁagAm
W@ﬁ%w%ﬁ—%ﬁaﬁmaﬁwﬁmAmwﬂﬁamzﬁm |

ristic equation of the matrix A and verify that it is satisfied

Find the characte
e inverse of matrix A with the help of Cayley-Hamilton

by A. Also find th
theorm. ST&l /where:
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14/B. A./B. Sc. (Part-I) MATHEMATICS

2 =1 _1

_A—I:»l 2—1]
1 -1 ‘2 |
Sﬁaﬁaﬁaﬂmﬁm‘éﬂﬁfﬁ@rsﬁﬁmlx —3x+1=0.

Solve the cubic equation by Cardon's method : x’—3x+1=0.

9. Joft 3 SIREXT P ST HITT | Test for convergence the series:

+—.-.._._._-
I+ o+ 50Xt 7700357 7.10.03.16 X7

10. ﬁc‘l@P(rl,B ) @T STiehd f“L+ecosew@Eﬁﬂ§msT%@Teﬂa%mfsﬂaT
bl gcﬁ GHIRT 511?[ Hioe | F lnd the polar equatlon of the chord of contact

of tangents drawn from the point P (r,, 0,) to the conic [= 'r]‘+ ecosb

11. qlipax’=2xy + y'—2x —1 =035f61§:{*@“T?1‘5”31Q~I |
TracétheconicxX’—2xy + y'—2x —1=0.
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